
l;=g+= sfo{s|dsf] ljj/0f

cf=j= @)&!.)&@ sf] 
;+;f]lwt cg'dflgt 
ah]6

 @)&! df3 
dlxgfdf k|fKt /sd

 @)&! df3 
dlxgfdf ePsf] vr{ s}=

1= a=p=lz=g+= #^%*)## gu/kflnsf cg'bfg 10,147,000.00 176,663.00
2= a=p=lz=g+= #^%*!&# :yfgLo ljsf; z'Ns sf]if k"+lhut 4,530,000.00 274,372.75
3= a=p=lz=g+= #^%*!($ :yf=zf=tyf ;f= lj= sfo{s|d 200,000.00 -15,000.00
4= a=p=lz=g+= #^%*!(# :yf=zf=tyf ;f= lj= sfo{s|d 4,094,100.00 284,025.00
5= a=p=lz=g+= #^%*!&# :yfgLo ljsf; z'Ns sf]if rfn' 4,920,000.00 477,709.00
6= ;fdflhs ;'/Iff sfo{s|d 16,430,000.00
7= zx/L :jf:Yo sfo{s|d 312,000.00
8= cfGtl/s >f]t tkm{ . Uf=lj=;= ;+rfng cg'bfg 10,417,000.00 545,097.00 220,473.40
9= /fhZj af+8kmf+8 -/lhi6|\]zg z'Ns ;d]t_ 10,900,000.00 2,252,078.00
10= bdsn Joj:yfkg -lh=lj=;/ uf=lj=; cg'bfg_ 850,000.00
11= ;8s af]8{ sfo{s|d dd{t ;+ef/ sf]if 5,000,000.00
12= hu]8f sf]if sfo{s|d 15,421,000.00
13= hg;xeflutf sfo{s|d 1,759,500.00
14= ut aif{sf] cfof]hgf x?sf] e'Qmflg tkm{ 4,350,812.47 159,000.00
!%= ;fljs uf=lj= sfo{s|d tkm{ 5,052,448.94
!^= /fli6|\o ;fIf/tf sfo{s|d tkm{ 115,000.00
!&= gu/kflnsf ;fem]bf/L sfo{s|d 212,250.00

hDdf M 94,711,111.41 2,797,175.00 1,577,243.15

an/fd Gof}kfg] lbjfs/ e'h]n

cfly{s k|zf;g zfvf sfo{sf/L clws[t

slknj:t' gu/kflnsfsf] c7f/f}+ gu/kl/ifbaf6 cf=j= @)&!.)&@ sf] sfo{s|d tyf ah]6 @)&) kf}if @( ut] :jLs[t ePsf] / @)&! Kff}if @( ut] 
;+zf]lwt ah]6 cg'dfg pGgfO;f}+ gu/kl/ifbaf6 :jLs[t ePsf]df ;f] adf]lhd @)&! df3 dlxgfdf b]xfo adf]lhdsf] cfo Joo ePsf] 5 . 
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